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1 (a) The birth rate has fallen in the last 40 years. Identify two possible reasons other than birth
control / contraception for this trend.

(b) Identify and explain two ways a decline in the birth rate can influence family structure in
society today.

(c) To what extent does Fig. 2 suggest that babies are increasingly being born outside of ‘stable
relationships™?

© OCR 2007



[Total: 15]

© OCR 2007 [Turn over



2

4
(a) Identify and explain two possible advantages to society of a decline in the birth rate.
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(a) Identify two possible reasons why the data in Fig. 3 might not present an accurate picture of
domestic roles in contemporary society.

(c) New Man: A man who challenges traditional male gender roles and is willing to take on
domestic and other traditional female roles.

Outline economic factors that might explain the possible increase in the ‘New Man’ in society
today.
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(d) (i) Identify and outline one quantitative primary research method you could use to investigate
the existence of the ‘New Man’ in two-parent families with young children.
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(i) Assess the appropriateness of this method for this investigation.
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4 (a) Fig. 4. Identify two possible reasons why there has been an increase in one-person
households between 1971 and 2004.
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(d) Discuss the possible reasons for the increase in lone parent families in the last 50 years.
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5 Figs. 4 and 5. Analyse ways statutory health and social care services might need to adapt in order
to meet the changing needs of families.
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